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For the given case, I will develop a company which will produce and sell T-Shirts. I selected this business, as I can start this business with small capital and I love to be a T-shirt designer. The company will manufacture T-shirts in-house and sell it to the retailers. The name of my company would be K-shirts.

Determination of cost
The following costs are expected to be incurred for manufacturing T-shirts:-
Capital costs:-
1. Stitching Machines	10 Units   $899 each (sewingmachineusa.com) 
2. Embroidery Machine      1 Unit     $900 each (sewingmachineusa.com)
3. Packing Machines           1 Set     $10,000 each (alibaba.com)
It is estimated that life of each of these machines is five years.
Variable costs:-
Material, labor and overhead costs for manufacturing of one T-shirt will be as follows:-
1. Cloth                	 	  $3.00
2. Thread 	     		  $0.10
3. Buttons 	   		  $0.50
4. Labor                  	  $2.00
5. Packing 	     		  $0.50
6. Power        	           	  $0.50
7. Sales commission  	  $0.20
8. Transportation	              $0.20


Fixed costs:-
Fixed costs per month will be as follows:-
1. Rent			$1,000
2. Salaries			$10,000 (For admin., designer & accountant)
3. Utility			$500
4. Advertisement		$1,000
5. Maintenance of machines $200
6. Stationery		  $150		
7. Other			$1,500

Determination of selling price
Selling price determination will depend upon the market forces as well as our manufacturing cost. When I surveyed the market, and get in touch with various retail shopkeepers and super markets purchase managers, I find that they are purchasing such T-shirt at $10.00 per unit. 
Working with my own set of cost information, I find that my cost will be as below:-
Variable cost per unit =     	 $7.00
Fixed cash cost per month =   	$14,350 
Depreciation per month =	$331.50
We can achieve a total production of 5,000 units a month. From the contribution margin statement, we find that we can make suitable contribution. When we compare the contribution margin with the fixed cost, we also find that the business will give us positive net income. 

	Contribution margin income statement

	Sales Revenue
	$50,000.00

	Variable cost
	$35,000.00

	Contribution
	$15,000.00

	Less Fixed cost
	$14,681.50

	Net Income
	$318.50



Minimum number of shirts needed to produce
We also calculated the minimum quantity, at which we may achieve break even. This has been calculated below:-
	Calculation of breakeven units

	Selling price per unit
	$10.00
	

	Less: Variable cost per unit
	$7.00
	

	Contribution
	$3.00
	

	
	
	

	Total fixed cost per month
	$14,681.50
	

	
	
	

	Breakeven point (Fixed cost / contribution)
	          4,894 
	units of shirts



In this calculation, the most suitable costing strategy is the contribution margin income statement. We also know it by the name of CVP (cost, volume and profit) analysis. The strategy shows that how many number of units can bring the firm in break even. It helps us also in determining the selling price. 

Costing methods not chosen for this company
I have not used the following costing techniques for my current business:-
1. Process costing
2. Absorption costing
3. Activity based costing
The reason behind non selection of process costing is that this costing system does not seem suitable for the company. As the production of shirts will be carried out on job basis from the workers and we will pay them once a shirt is finished. This helps us in getting the best output from the workers and they will also be happy to work more hours for better compensation.
Absorption costing is not a better option. Compared with marginal costing, absorption costing does not provide a better analysis and good information for taking strategic decisions. In absorption costing, the fixed manufacturing costs are considered as product cost, however these costs should actually be treated as period costs. So, Absorption costing is not used in our calculation. 
Activity based costing is a way of costing where common costs are allocated to different products based on cost drivers. In our case, we are only manufacturing T-shirts and no other product. So, activity based costing is not used.

Ethical considerations of costing methods
There are certain situations in which costing methods are unethically used. Taking an example of a company which sells its products to its customers where price is determined based on cost plus. So in this case, if the company shows a higher cost to the buying company, they can get higher revenue. It has been found on occasions that the cost accountants manipulate with the numbers and show a higher cost.
There is another example. The examples fit suitable if a company is using absorption costing. If the cost accountant has increased the number of units, or decreased the number of units on which fixed production cost is allocated, the cost per unit will not be presented correctly (highered.mcgraw-hill.com). 



Capital budgeting in my company
The production capacity of a set of ten sewing machines, one embroidery machine and a packaging machine is to produce 5,000 units of shirt in a month. The total capital cost of a set of such machine is $19,890 and the life of these machines are five years. Initial working capital requirement is $5,000 which will be released at the end of five years. Estimated salvage value of machineries at the end of five years has been considered as 10% of original capital cost. The calculated net present value is as below:-
	Calculation of Net Present Value

	 
	Cash flow
	PV factor @ 9%
	PV

	Year 0 (Initial investment)
	-$24,890.00
	1.000
	-$24,890.00

	Year 1
	$7,800.00
	0.917
	$7,155.96

	Year 2
	$7,800.00
	0.842
	$6,565.10

	Year 3
	$7,800.00
	0.772
	$6,023.03

	Year 4
	$7,800.00
	0.708
	$5,525.72

	Year 5 (Operating cash inflow + Salvage value + Working capital)
	$14,789.00
	0.650
	$9,611.84

	So, net present value
	 
	 
	$9,991.65



Based on this, we find that the business is viable.

Use of Payback and IRR method
We can also use payback or IRR method for capital budgeting. These methods are also used for capital rationing, i.e. when we have more than one options available for our capital cost, and we need to select the best among these or need to rank it.
We find that our cost of capital is 9%. We further find that the IRR of the project, as calculated in excel sheet is 11.98% which is much higher than our cost of capital, so the project is acceptable.
The payback period of the project is 3 years 2.29 months, which looks acceptable. These methods are used for business for understanding the acceptability of a project.
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